
 
 

  

 

 

 

 
U.G. DEGREE EXAMINATION —  

JULY, 2022. 

Management 

(From CY – 2020 onwards) 

First Year 

PRINCIPLES OF MANAGEMENT 

Time : 3 hours Maximum marks : 70 

PART A — (3  3 = 9 marks) 
Answer any THREE questions each in 100 words. 

1. Differentiate between short term and long term 
planning. 

 SÖQ¯ Põ» ©ØÖ® }sh Põ» vmhªhø» 

÷ÁÖ£kzxP. 

2. Write on span of control. 
 Pmk¨£õmiß Põ» AÍøÁ GÊxP.  

3. What are the benefits of controlling? 
 Pmk¨£kzxÁuß |ßø©PÒ GßÚ? 

 UG–A–1113 BBA–11X/
  BBAM–11X/
  BBAC–11X/
  BBAR–11X/
  BCS–11X
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4. Differentiate between centralization and 
decentralization. 

 ø©¯¨£kzuÀ ©ØÖ® £μÁ»õUP® BQ¯ÁØøÓ 

÷ÁÖ£kzxP. 

5. Write a note on total quality management. 
 ö©õzu uμ ÷©»õsø© £ØÔ¯ SÔ¨ø£ GÊxP. 

PART B —  (3  7 = 21 marks) 

Answer any THREE questions each in 200 words. 

6. Discuss the nature and functions of management. 
 ÷©»õsø©°ß ußø© ©ØÖ® ö\¯À£õkPøÍ¨ 

£ØÔ ÂÁõvUP. 

7. What is MBO? Discuss the process of MBO. 
 MBO GßÓõÀ GßÚ? MBO ö\¯À•øÓPøÍ £ØÔ 

ÂÁ›UP. 

8. Explain the term business. What are its 
components? 

 ÁoP® Gß£øu ÂÍUSP. Auß TÖPÒ GßÚ? 

9. Discuss the concept of decision – making and 
explain in detail decision-making conditions. 

 •iöÁkUS® P¸zøu ÂÁõvUP ©ØÖ® 

•iöÁkUS® {ø»PÎÀ EÒÍ {£¢uøÚPøÍ 

Â›ÁõP ÂÍUSP. 
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10. Outline the steps involved in the recruitment and 
selection of employees giving suitable examples. 

 ö£õ¸zu©õÚ Euõμn[PøÍU öPõkzx 

£o¯õÍºPøÍ Bm÷\º¨¦ ©ØÖ® ÷uº¢öukzxu¼À 

EÒÍ £iPøÍ ÷PõimkU PõmhÄ®. 

PART C — (4  10 = 40 marks) 

Answer any FOUR questions each in 500 words. 

11. Discuss the objectives of planning. Briefly discuss 
the steps involved in the planning process. 

 vmhªh¼ß ÷|õUP[PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

vmhªhÀ ö\¯À£õmiÀ EÒÍ £iPøÍ _¸UP©õP 

ÂÁ›UP. 

12. Answer the following in detail. 

 (a) Total quality management 

 (b) Knowledge management 

 (c) Kaizen. 

 ¤ßÁ¸ÁÚÁØøÓ Â›ÁõP GÊxP. 

 (A) ö©õzu uμ ÷©»õsø© 

 (B) AÔÄ ÷©»õsø© 

 (C) øP\ß. 
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13. Briefly discuss the contribution of Taylor and 
Fayol towards the development of management 
thought. 

 ÷©»õsø© ]¢uøÚ°ß ÁÍºa]°À öh´»º ©ØÖ® 

L£÷¯õ¼ß £[PÎ¨ø£ _¸UP©õP ÂÁ›UP. 

14. Who is a manager? Explain fully the role of 
manager in an organization. 

 ÷©»õÍº Gß£Áº ¯õº? {ÖÁÚzvÀ ÷©»õÍº £[øP 

•Êø©¯õP ÂÍUSP. 

15. Define staffing. What are the selection process 
errors? 

 £o¯õÍº Áøμ¯Ö. ÷uºÄ ö\¯À•øÓ ¤øÇPÒ 

GßÚ? 

16. Explain briefly about the various functions of 
management. Explain the three levels of 
management. 

 ÷©»õsø©°ß £À÷ÁÖ ö\¯À£õkPøÍ¨ £ØÔ 

ÂÍUSP. ÷©»õsø©°ß ‰ßÖ {ø»PøÍ ÂÁ›UP. 

17. What are the different bases of departmentation? 
Compare departmentation by function and 
product. 

 xøÓ°ß £À÷ÁÖ Ai¨£øhPÒ GßÚ? xøÓPøÍ 

£o ©ØÖ® ö£õ¸Îß ‰»® J¨¤kP.  

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Business Administration/Retail Management 

(From CY – 2020 onwards) 

First Year 

FINANCIAL AND MANAGEMENT ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

1. What do you understand by time value of money? 

 £nzvß ÷|μ ©v¨¥møh £ØÔ¯ P¸zøu ÂÍUSP. 

2. A project costs Rs. 2,50,000 and yields annual cash 
inflow of Rs. 50,000 for 7 years. Calculate its pay 
back period. 

 J¸ vmh® ¹. 2,50,000 ©ØÖ® Bsk Á¸©õÚ® ¹. 7 

BskPÐUS ¹.50,000 Auß ÁÇ[SU Põ»® 

PnUQk. 

 UG-A-1115 BBA–13X/
  BBAR–13X
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3. Discuss the scope of management accounting. 

 ÷©»õsø© £vÂ°¯¼ß Áõ´¨¦UPøÍ £ØÔ 

ÂÁõvUPÄ®. 

4. What do you mean by accounting? 

 PnUS £vÂ¯À GßÓõÀ GßÚ? 

5. Explain the procedure for the preparation of funds 
flow statement. 

 {v Jmh AÔUøPø¯ u¯õ›¨£uØPõÚ 

ÁÈ•øÓPøÍ TÖP. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

6. Explain various accounting concepts briefly. 

 PnUS £vÂ¯¼ß P¸zxUPøÍ ÂÁ›. 

7. Discuss between funds flow and cash flow 
statement. 

 {v Jmh® ©ØÖ® öμõUP Jmh® ÷ÁÖ£kzxP. 

8. What are the different classifications of budgets? 

 {v AÔUøP°ß £À÷ÁÖ TÖPÒ ¯õøÁ? 
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9. Anbu Co. Ltd., is considering the purchase of a 
new machine. Two alternative machines (X and Y) 
have been suggested each costing Rs. 4,00,000. 
Earnings after taxation are expected to be as 
following. 

 Year cash inflow 

 Machine X 
Rs. 

Machine Y
Rs. 

1 40,000 1,20,000

2 1,20,000 1,60,000

3 1,60,000 2,00,000

4 2,00,000 1,20,000

5 1,60,000 80,000

 The company has a target rate on return on 
capital of 10% and on this basis, you are required 
to compare the profitability of the machines and 
state which alternative is preferable. 

Year : 1 2 3 4 5 

PV : 0.909 0.826 0.751 0.683 0.621

 Aß¦ Aß ÷Põ ¦v¯ C¯¢vμzøu Áõ[P 

P¸xQßÓÚº. Cμsk ©õØÖ C¯¢vμ[PÒ (GUì 

©ØÖ© J´) JÆöÁõßÔß Âø» ¹. 4,00,000. 

Á›US¨ ¤ßÚμõÚ Á¸©õÚ® ¤ßÁ¸©õÖ C¸US® 

GÚ Gvº£õºUP¨£kQÓx. 
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  Bsk öμõUP EÒ Kmh® 

 C¯¢vμ® X 
¹. 

C¯¢vμ® Y
¹. 

1 40,000 1,20,000
2 1,20,000 1,60,000
3 1,60,000 2,00,000
4 2,00,000 1,20,000
5 1,60,000 80,000

 {ÖÁÚzvß return on capital 10% Cuß 

Ai¨£øh°À C|z Cμsk C¯¢vμ[PÎß 

»õ£[PøÍ PnUQmk, G¢u C¯¢vμzvÀ •u½k 

ö\´¯ ÷Ásk® Gß£øu ÂÍUPÄ®. 

Bsk : 1 2 3 4 5 

PV : 0.909 0.826 0.751 0.683 0.621

10. A firm issues debentures of Rs. 1,00,000 and 
realize Rs. 98,000 after allowing 2% commission to 
brokers. Debentures carry interest rate of 10%. 
The debentures are due for maturity at the end of 
10th Year at par. Calculate costs of debt. 

 J¸ {ÖÁÚ® ¹. 1,00,000 ©v¨¦ÒÍ Phß 

£zvμ[PøÍ \¢øu°À ÂØÖ 2% Pªèß AÝ©v 

AÎzu ¤ÓS ¹. 98,000 Di²ÒÍx. Phß £zvμ[PÒ 

Ámi ÂQu® 10% £zuõ® Bsiß CÖv°À 

•vºa]¯øh²® £ØÖa ^miß Põμn©õP Phß 

£zvμ[PÒ ÁÇ[P¨£kQßÓÚ Phß ö\»øÁ 

PnUQhÄ®. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

11. Following are the balance sheets of Suhas Co. 
Ltd., as on 31.3.2014 and 31.3.2015. 

Liabilities 31.3.2014
Rs. 

31.3.2015
Rs. 

Equity share capital 3,00,000 4,00,000

12% preference share capital 2,00,000 2,50,000

Reserve and surplus 1,00,000 1,90,000

10% debentures 1,00,000 2,00,000

Sundry creditors 2,00,000 4,10,000

Bills payable – 50,000

 9,00,000 15,00,000

Assets 31.3.2014
Rs. 

31.3.2015
Rs. 

Plant and machinery 3,00,000 6,25,000

Land and building 1,80,000 2,20,000

Investment 1,00,000 2,00,000

Stock 1,50,000 2,00,000

Sundry debtors 1,00,000 1,20,000

Cash 70,000 1,35,000

 9,00,000 15,00,000

 You are required to prepare comparative balance 
sheet and comment. 
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 31.3.2014 ©ØÖ® 31.3.2015 AßÖ _íõì ÷Põ. 

¼ªöhmiß C¸¨¦{ø»U SÔ¨¦PÒ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦UPÒ 31.3.2014
¹. 

31.3.2015
¹. 

£[S ‰»uÚ® 3,00,000 4,00,000

12% •ßÝ›ø© £[S ‰»uÚ® 2,00,000 2,50,000

C¸¨¦ ©ØÖ® E£› 1,00,000 1,90,000

10% Phß £zvμ[PÒ 1,00,000 2,00,000

£À÷ÁÖ Phß ÁÇ[S£ÁºPÒ 2,00,000 4,10,000

ö\¾zu ÷Ási¯ ¤ÀPÒ – 50,000

 9,00,000 15,00,000

ö\õzxUPÒ 31.3.2014
¹. 

31.3.2015
¹. 

Bø» ©ØÖ® C¯¢vμ[PÒ 3,00,000 6,25,000

{»® ©ØÖ® Pmih® 1,80,000 2,20,000

•u½k 1,00,000 2,00,000

£[S 1,50,000 2,00,000

£À÷ÁÖ PhÚõÎPÒ 1,00,000 1,20,000

£n® 70,000 1,35,000

 9,00,000 15,00,000

 }[PÒ J¨¥mk C¸¨¦{ø»U SÔ¨ø£z u¯õ›UP 

÷Ásk®. 
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12. The following are the summarized trading and 

profit and loss a/c and balance sheet of C.G. Ltd., 

for the year ended 31.3.2015. 

Particulars Rs. Particulars Rs. 

To opening 

stock 

2,40,000 By cash sales 2,40,000

To cash 

purchases 

1,20,000 By credit sales 9,60,000

To credit 

purchases 

6,40,000 By closing 

stock 

1,60,000

To gross profit 

c/d 

3,60,000  

 13,60,000  13,60,000

To general 

expenses 

80,000 By gross profit 

b/d 

3,60,000

To depreciation  40,000   

To income tax 60,000   

To net profit c/d 1,80,000   

 3,60,000   



 UG-A-1115 8

 Balance sheet as on 31.3.2015 

Liabilities Rs. Assets Rs. 

Share capital 6,00,000 Fixed assets 3,40,000

General reserve 1,20,000 Investments 2,00,000

Profit and loss A/c 2,20,000 Stock 1,60,000

Creditors 1,60,000 Debtors 3,20,000

Bills payable 40,000 Cash 1,20,000

 11,40,000  11,40,000

 Compute : 

 (a) G.P. ratio  

 (b) N.P. ratio 

 (c) Operating cost ratio 

 (d) Stock turnover ratio 

 (e) Current ratio 

 (f) Liquid ratio 

 (g) Debtors turnover ratio 

 (h) Creditors turnover ratio. 
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 31.3.2015CÀ •iÁøh¢u BsiØPõÚ C.G. LtdCß 
_¸UP©õÚ ÁºzuP® ©ØÖ® »õ£ |èh PnUS 
©ØÖ® C¸¨¦{ø» ¤ßÁ¸©õÖ. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 
£[S vÓ¨£uØS  2,40,000 £n ÂØ£øÚ 

‰»® 2,40,000
£n öPõÒ•uÀ 
ö\´ 

1,20,000 Phß ÂØ£øÚ 
‰»® 9,60,000

Phß Áõ[S 
&uÀPÐUS 

 
6,40,000 

£[SPøÍ 
‰kÁuß ‰»® 

 
1,60,000 

ö©õzu »õ£® c/d 3,60,000  

 13,60,000  13,60,000
ö£õx ö\»ÄPÐUS  

80,000 
ö©õzu »õ£zuõÀ 

b/d 3,60,000
÷u´©õÚzvØS 40,000   
Á¸©õÚ Á› 60,000   
{Pμ »õ£zvØS c/d  

1,80,000 
  

 3,60,000   

 31.3.2015 {»Áμ¨£i C¸¨¦{ø» 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S ‰»uÚ® 6,00,000 {ø»¯õÚ 
ö\õzxUPÒ 3,40,000

ö£õx C¸¨¦ 1,20,000 •u½k 2,00,000
»õ£® ©ØÖ® 
CÇ¨¦ A/c 

 
2,20,000 

£[S 1,60,000

Phß 
öPõkzuÁº 

 
1,60,000 

PhÚõÎPÒ 3,20,000

ö\¾zu 
÷Ási¯ ¥ÀPÒ 

 
40,000 

£n® 1,20,000

 11,40,000  11,40,000
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 PnUQk : 

 (A) â.¤. ÂQu® 

 (B) Gß.¤.ÂQu® 

 (C) ö\¯À£õmk ö\»Ä ÂQu® 

 (D) £[S ÂØÖ•uÀ ÂQu® 

 (E) uØ÷£õøu¯ ÂQu® 

 (F) vμÁ ÂQu® 

 (G) PhÚõÎPÎß Á¸Áõ´ ÂQu® 

 (H) Phß ÁÇ[S£ÁºPÎß Á¸Áõ´ ÂQu®. 

13. From the following balance sheet of RK Ltd., and 
additional information prepare : 

 (a) Statement of changes in working capital 

 (b) Funds flow statement. 

Liabilities 31.3.2014
Rs. 

31.3.2015
Rs. 

Equity share capital 6,00,000 7,00,000

P and L A/c 75,000 1,00,000

Long term debt 3,00,000 4,00,000

Creditors 4,50,000 5,40,000

Bills payable 85,000 95,000

O/s expenses 5,000 10,000

 15,15,000 18,45,000
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Assets 31.3.2014
Rs. 

31.3.2015
Rs. 

Building 4,50,000 6,00,000

Machinery 3,30,000 4,00,000

Furniture 85,000 1,05,000

Stock 3,60,000 4,50,000

Debtors 2,10,000 1,70,000

Cash 70,000 1,20,000

Preliminary expenses 10,000 –

 15,15,000 18,45,000

  Additional information : 
  (i) Depreciation written off on machinery  

Rs. 30,000 and on furniture Rs. 15,000.  

  (ii) Building purchased during the year  
Rs. 1,50,000. 

  (iii) Preliminary expenses written off  
Rs. 10,000. 

 RK Ltd., Cß ¤ßÁ¸® C¸¨¦{ø»U 

SÔ¨¤¼¸¢x ©ØÖ® TkuÀ uPÁÀPøÍz 
u¯õ›UPÄ® : 

 (A) £o ‰»uÚzvÀ HØ£k® ©õØÓ[PÎß 

AÔUøP. 

 (B) {v Kmh AÔUøP. 
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ö£õÖ¨¦PÒ 31.3.2014
¹. 

31.3.2015
¹. 

£[S ‰»uÚ® 6,00,000 7,00,000
»õ£® ©ØÖ® CÇ¨¦ A/c 75,000 1,00,000
}sh Põ» Phß 3,00,000 4,00,000
Phß öPõkzuÁºPÒ 4,50,000 5,40,000
ö\¾zu ÷Ási¯ ¤ÀPÒ 85,000 95,000
{¾øÁ°À EÒÍ ö\»ÄPÒ 5,000 10,000
 15,15,000 18,45,000
ö\õzxUPÒ 31.3.2014

¹. 
31.3.2015

¹. 
Pmih® 4,50,000 6,00,000
C¯¢vμ[PÒ 3,30,000 4,00,000
©μa\õ©õßPÒ 85,000 1,05,000
£[S 3,60,000 4,50,000
PhÚõÎPÒ 2,10,000 1,70,000
£n® 70,000 1,20,000
Bμ®£ ö\»ÄPÒ 10,000 –
 15,15,000 18,45,000

  TkuÀ uPÁÀ : 

  (i) C¯¢vμ[PÒ ¹. 30,000 ©ØÖ® 

©μa\õ©õßPÒ  

¹. 15,000. «x ÷u´©õÚ® GÊu¨£mhx. 

  (ii) ¹. 1,50,000 BsiÀ Áõ[Q¯ Pmih®. 

  (iii) §ºÁõ[P ö\»ÄPÒ ¹. 10,000 uÒÐ£i. 
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14. The following figures for profit and sales of the 
ABC Ltd. 

Year  Sales  Profit 

 Rs. Rs. 

2019 2,70,000 6,000 

2020 3,00,000 15,000

 Calculate : 

 (a) P/V ratio 

 (b) Fixed cost 

 (c) Break even point and  

 (d) Margin of safety at a profit of Rs. 24,000 

 ABC {ÖÁÚzvß ÂØ£øÚ ©ØÖ® C»õ£ ÂÁμ[PÒ 

AÎUP¨£mkÒÍÚ. 

Bsk  ÂØ£øÚ  C»õ£® 

 ¹. ¹. 

2019 2,70,000 6,000 

2020 3,00,000 15,000 

 ¤ßÁ¸ÁÚÁØøÓU PnUQkP : 

 (A) P/V ÂQu® 

 (B) {ø»¯õÚa ö\»Ä 

 (C) BEP 

 (D) C»õ£® 24,000 GÛÀ £õxPõ¨¦ Ãu® 

GÆÁÍÄ? 
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15. What are the factors that determine working 

capital requirement of a company? 

 J¸ {ÖÁÚzvß ö\¯À£õmk ‰»uÚz ÷uøÁPøÍ 

{ºn°US® PõμoPÒ GßÚ? 

16. Explain in brief the sources of long term and short 
term finance. 

 }sh Põ» ©ØÖ® SÖQ¯ Põ» {v Buõμ[PøÍ 

_¸UP©õP ÂÍUPÄ®. 

17. Briefly explain the methods in capital budgeting. 

 ‰»uÚ ÁμÄ ö\»Äz vmhzvÀ EÒÍ •øÓø¯ 

_¸UP©õP ÂÍUPÄ®. 

——––––––––– 



 
 

  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Retail Management 

(From CY – 2020 onwards) 

First Year 

MANAGERIAL ECONOMICS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions. 

1. Define “Managerial economics”. 

2. What is marginal rate of substitution? 

3. Define “Demand forecasting”. 

4. State the features of monopoly. 

5. Indicate the need for capital budgeting. 

 UG–A–1134 BBAR–12X
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PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions. 

6. Explain the scope of managerial economics. 

7. Brief the determinants of demand. 

8. What are the features of monopolistic competition? 

9. Explain payback method of capital budgeting. 

10. What are the properties of indifference curves? 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

11. Narrate the objectives of modern firms. 

12. Illustrate the law of variable proportions. 

13. Explain price output determination under perfect 
competition. 

14. Summarize the methods of pricing. 

15. Explain the methods of measuring elasticity of 
demand. 

16. Discuss the factors affecting price elasticity of 
demand with the help of suitable examples. 

17. Explain internal rate of return with example. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Retail Management 

(From CY – 2020 onwards) 

First Year 

INTRODUCTION TO RETAILING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions each in 100 words. 

1. What is a customer service? 

 ÁõiUøP¯õÍº ÷\øÁ GßÓõÀ GßÚ? 

2. Give the meaning of store designing. 

 Pøh ÁiÁø©¨¦ Gß£uß ö£õ¸øÍU TÖP. 

3. What do you mean by supply chain management? 

 Â{÷¯õPa \[Q¼ ÷©»õsø©°ß E[PÒ P¸zx 

GßÚ? 

 UG-A-1135 BBAR–14X
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4. What is electronic article surveillance? 

 ªßÚq Pmkøμ PsPõo¨¦ GßÓõÀ GßÚ? 

5. Who is a guerilla shopper?  

 öPõ›À»õ PøhUPõμº GßÓõÀ GßÚ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions. 

6. Explain the influence of reference group on 
consumer buying behaviour. 

 ~Pº÷Áõº Áõ[S® |hzøu°À SÔ¨¦U SÊÂß 

uõUPzøu ÂÍUS[PÒ. 

7. Briefly explain social issues in retailing. 

 ]À»øÓ ÁoPzvÀ öuõhº¦øh¯ \‰P¨ 

¤μa]øÚPøÍ _¸UP©õP ÂÍUSP. 

8. Briefly explain the importance of customer service. 

 ÁõiUøP¯õÍº ÷\øÁ°ß •UQ¯zxÁzøu 

_¸UP©õP TÖP. 

9. Briefly explain any six types of pricing in retailing. 

 ]À»øÓ ÂØ£øÚ°À H÷uÝ® BÖ ÁøP¯õÚ 

Âø»PøÍ ÂÍUSP. 

10. Write a note on functions of retailer. 

 ]À»øÓ ÂØ£øÚ¯õÍ›ß ö\¯À£õkPÒ £ØÔ¯ 

SÔ¨ø£ GÊxP. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

11. Explain the various steps involved in category 
management. 

 ÁøP {ºÁõPzvÀ EÒÍ £À÷ÁÖ £iPøÍ ÂÍUSP. 

12. Discuss the advantages an disadvantages of  
e-tailing. 

 C&øh¼[Qß |ßø©PÒ ©ØÖ® wø©PÒ £ØÔ 

ÂÁ›UP. 

13. Explain the factors affecting consumer behaviour 
in detail. 

 ~Pº÷Áõº |hzøuø¯ £õvUS® PõμoPøÍ Â›ÁõP 

ÂÍUPÄ®. 

14. What is e-retailing? Explain the challenges of  
e-retailing. 

 ªßÚq&]À»øÓ ÂØ£øÚ GßÓõÀ GßÚ? 

C&]À»øÓ ÂØ£øÚ°ß \ÁõÀPøÍ ÂÍUPÄ®. 

15. Explain the factors influencing Indian retail 
industry. 

 C¢v¯ ]À»øÓ Áºzuzøu £õvUS® PõμoPÒ 

ÂÍUSP. 
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16. What is telemarketing? Discuss the advantages 
and disadvantages of telemarketing. 

 öh¼©õºUöPmi[ GßÓõÀ GßÚ? öh¼©õºöPmiß 

|ßø©PÒ ©ØÖ® wø©PÒ £ØÔ ÂÁõvUPÄ®. 

17. Explain retail pricing strategies in detail. 

 ]À»øÓ Âø» {ºn¯ EzvPøÍ Â›ÁõP ÂÍUPÄ®. 

——––––––––– 


